PROJ ECTILE MOTION (HORIZONTALLY-LAUNCHED)
- SOLUTIONS

. %29 m
2. 138 m

3. 15t m

4 282m
5. 148 m

6. 840m
7. 163%
8

q Displacement from t=0 Displacement During D.ﬁ‘i’:;ag;‘fll::elgal b
. (cm) Time Interval (cm) (cm/s)
Time (s) - lo
Horizontal Vertical Horizontal Vertical Horizontal Vertical
0.00 0.00 0.00 —
T o~ £ [ £
OS50 7045 [OAS L) ltn
0.10 0.50 0.15 (¥
~
ACH ~ [ =P (= -
Q.20 A= N e JU L®)
0.20 1.00 0.30 [t 6
AEO_ L AU 50 un rs)
000 OO0 >< LE~4 oo—o o Py
030 1.50 070 g i R B B
550 O4n 50 (FArN )
O30 OT0 o> O |+
0.40 2.00 1.10 >
050 o560 Co [ =N
O 20 Vo0 JU a9
0.50 2.50 1.60
6506605060 2
060 3.00 2.20 : : :
0501070 [P Jo
020 o0 JO RS L
0.70 3.50 2.90
O 50 OHRD | = [oa)
U009 £ JU O
0.80 4.00 3.70 (o] o2 | oY% 06 o8 1.0
6506305090
0.90 450 4.60 ’ time (s)
050 LD o TN
020 OO0 JJ O
1.00 5.00 5.60
o:50——+10 50 H
1.10 5.50 6.70

)
i) IO F ~rOl%

VeLocITy (52)
o

o] oL oY% 06 o8 1.0
time (s)



